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geranerat & fora ~dr : Instructions for the candidates :

| gftsmefl OMR 3I9¥ UF® G¥ IYAT 1. Candidate must enter his / her

gy gfiaar #9i& (10 dF B) Question Booklet Serial No.

yayq @ | (10 Digits) in the OMR Answer
Sheet.

2. Candidates are requered w (i 1y
nswers in their own words as ar

practicable.
i gs In the nght nand marg:
4 been

alloth ;;;ii- the candidates to read
the quastmns carefully.

5. g gv YfeTHr g @vel 78— @WUE-H 5. This question booklet is divided into

od @Ug-/ two sections — Section-A and
' Section-B.
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0.

TUS-I " 70 awjfre gvy § frd 6

9 5=t 35wyt &1 v 1 S
&1 35 991 & ifirs #1 37 oF gy
WM 35 %7 g gogieT ginry geE &
I 1 9% Feiifte &1 g9 397 39 &
fere 3ucrer awr) To_oMR FR-TIE
7 Re m w6t ey @5/ w1t
FeT 97 I gIE F1 fEE o gere
¥ W / aver wEref /) adg /
TMGT AT FT OMR I97 o3& o
WART FEAr mAr & armemr gdiar
gRvmT amr=r gy

GUT - & H 2079 3o 99T § |
4% & g 2 s frifia & Fad
g fFel 10 wedt @1 FAT
dfqard & | 79 HHARF =@ @z o
6 g9 IwviT wyT B3 ma & o &
fere s st frifa 2, foad @ fa=t
IWFAT FT I I SfErd ¢

&l 5FR & FoARIAF IV FT 8.

YEnT qotaar afd & 1

In  Section-A, there are
70 objective type questions, ou: ./
which any 35 questions are to p,
answered. [f more than 35 question-,
are answered, then only first 35 ..
be evaluated. Each guestion curr..-
1 mark. Darken the circle with blye
/ black ball pen against the corre::
option on OMR Answer She-
provided to you. Do not use
whitener / liquid / blade / naii
etc. on OMR Answer Sheet,
otherwise the result will bpe

invalid.

In Section - B, there are 20 short
answer type gquestions. Fucr
carrying 2 marks, out of which any
10 questions are to be answered
Apart from these, there are 6 long
answer type questions cu.
carrying § marks, out of which any
3 questions are to be answered.

Use of any electronic apphances is
strictly prohibited.
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WUE - ¥ / SECTION - A
a‘ﬁﬁwm / Objective Type Questions
R¥T 9T 1/ 70 AF F GAF 9y & @ qw faweq Bu mw & i @ vw awt
39 ZRT g7 7Y W faweq F OMR Iz g RafRAT #F1 FEet 35 vt @7 3 51

i 35 x1=35
Question Nos. 1 to 70 have four options, out of which only one is correct. You have to

mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35

. Fr=ifea 3 @ o anETTE wer @1 3w & 2

(A HT (B) 3R
[C‘L Hel (D) ryrara
Which of the following is an example of Parthenocarpic fruit ?
(A) Orange (B) Pomegranate
(C) Banana (D) Pecar
2. Wew fhad dig #t daes Fh T 2
(A)  HICTER qUT JHEASHA (Bl uAferer aun ammfaven
(€  URIRT e Aot D) Yferar aen ofaw

Penipatus is connecting link between
(A) Mollusca and Echinodermata (B) Anneclida and Arthropoda

(C) Porifera and Coclenterata (D) Reptilia and Aves (Bird)
3. oRfaw gefud &

(A) IdiEda 4@ (B) Whfas a5 &

) FFEHS fawa | (D) FH | @i

Darwin is associated with

(A) Mutation (B) Natural selection

(C) Inorganic evolution (D)  all of these
[(119 ] A [11015-A Page 3 of 24
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a. a@ﬁaﬁvﬁﬁmmmmwm%?

(A)  3for B) fafora
(C) B D) T q i 7@
Which type of endosperm is found in Angiosperms ?
(A} Haploid (B)  Diploid
(C) Triploid (D)  None of these

5. m@mﬁq%mmw%ﬁqwmw% ?
A)  Fia= (B) I earen
(C) =T Sepfaer (D) i Aeam

'~ What is called the membranous covering of ovum at the time of ovulation ?

(A) Chorion | - (B) Corona radiata

‘ (C) ~ Zona pellucida (D)  Zona radiata

6.  fo 1 f8em & o o fafy @ wrer g ¥ 5
(a)  ffsmaar (B, 3ET =
© FpE () HFTH T
Sceds without fertilization are obtained from which method ?
(A) Dormancy (B) Apomixis
(C)  Polyembryony (D) Parthenocarpy

7. wwﬁ%mﬂ@ﬁa‘i%@m&mﬁzﬁwwm% ?
(A)  GETAd G (B - SAm
(C) &I TREY (D) S wEw
A haploid sct of all the genes present in a gamete is called
(A)  Linkage group (B] Genome

_ " (C) Phenotype (D) ' Genotype
1119] A [11015A Page 4 of 24
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8. Gzonhe Rt Frefen A 3 fa ) a1 s ¥ 2

(A B) [ aEn
(C) wReRNY o) fea
Entamoeba histolytica is causal organism of which of the following diseases ?
(A)  Tetanus (B)  Chicken pox
(C) Filariasis (D) Dysentery
9. SIU ¥ gRgA sy Fr=ifera F ) fras mer o o S & 2
(A) YRR YT &R % A (B) HIEhS 7T &R F WF
(© W& YR & 7 D) T A R
In DNA, hydrogen bonding occurs between which of the following ?
(A) Sugar and base (B) Phosphatc and base
(C) Complcmentary bases (D). - All of these
10, &9 1y frg @ve & ol o o 9 § 2
A) STIgg A (B) &ARQgMg

Q) EYMY D) FEARHR

Sunken stomata arc found in which type of plants ?

(A) Hydrophytcs (B) Halophytes

(C) Xecrophytes (D) Mesophytes
1w g frsifed fea dfe @ ETeReE 2

(n  Uige g | /) wg il

©) e D) oS

Mammary glands arc modification of which of the full?wing glands ?
- (A) Adrenal gland (B)  Swecat gland

(C)  Endocrinc gland (D)  Thyroid gland

| 119 A [11015-A . Page S of 24 ‘
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12. gt st d @Y s sra daws & )
A Itorg pfufug B vmRFifg apEisty
() dlorw ogefaRa iy (D)  &eHer HfEgfran

Which onc is a good vector in genetic engineering ?
(A) Bacillus thuringiensis (B) Agrobactertum tumefaciens

(C)  Bacillus amyloliquefaciens (D)  Salmonella typhimurium
13, hﬁmmﬁwﬁwﬁaﬂﬁmﬁ@maﬁwmm% ?

(A)  DNA UTems (B) DNA SRS
(@ Hidevs degfaers (D) ad ZEfwe=
Enzyme that cuts DNA at specific sites is called as
(A) DNA polymerase (B) DNA ligase
(C) Restriction endonuclease (D) Reverse transcriptase
14. URUGES 1 A & 2
(A) - OIS B) Tawmges
(C) il D)  ¥H | |
Phytoplanktons are called as
(A)  Aulotrophs (B)  Heterotrophs
(C)  Saprotrophs (D)  all of these
15. OUE @ @l H, AERR #4 SEed § 2
(A) AU IR B) WS I
) fadlus 3ar® R fedas I
In grazing food chain, carnivores are
(A)  Primary producers (B)  Primary consumers
(C)  Secondary producers (D)  Secondary consumers
[119] A [11015-A Page 6 of 24
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16. WM YOI ¥ 317 @ 3w ( ) Fbet) wg & A fwba 2 3 o

Q) 8sHaw (B) 12 AR

(C)  SreEl W | D) e S

In human foctus the limbs and digits devclop after how many weeks 2

(A) 8 wecks (B) 12 weeks

(C) Fifth month (D) First trimester
17. Y1) AcTehratt @ yprmopatt @t ferd w1 seendt @ 0

() .. GBI 5 (B) gHH T

(C)  TFIY] ®UEIT (D) - ¥[ERIY] HITYRTAT

Release of sperms from seminiferous tubules is called

(A) Spermatogenesis (B) Gametogenesis

(C) Spermiogenesis (D) .. Spermatogonia
18. SHifead F=ifra & @ forad sy swar e 2

) gl g (B) STl

(C) AT Wi (D) ¥H I |/

Colchicine interferes in which of the following ?
(B) Polyploidy
All of these

(A) Spindle organization

, (C)  DNA replication (D)
19.  Y-TUTgA g1 §AT § ?

vaf® (B). GHAfH

(A)

Co(o)  weieRiys D) denies

Y-chromosomec 18

(A} Accentric (B)  Acrocentric
(C) Submectacentric (D)  Telocentric

[ llglA 11015-A Page 7 of 24
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20. o fEas g Hifaw gadT #er € 2

EU S (B) ™ FgW

(@  ofeat & gro - (D) &% % g
Bryophylium is vegetatively propagated by

(A) Roots (B) Stem

(C)  Lecaves (D)  Tuber

21, TR W HY siafed e @ a ww o

(A) &Y (B) =T
Qe (D) SHREge

The internal buds of fresh water sponges are called

(A)  Tubers (B) Gemma

(C) Gemmule (D) Osculum

22, 3YA UK M Wt fRm b )

(A, IO R (B) TH WY

(C) ‘!‘_'ﬂlﬁ (D) ™=
Dudhwa National Park is located in

(A) Uttar Pradesh (B) Madhya Pradesh
(C) Gujarat (D) Rajasthan

23, S@wd 9l S FeiaE] 1 e feweh are ) fean o ¥ 2

(A, o7& (B) S sy

() &EREm (D) & §YF gRI
Endangered plant specics are conserved through
(A)  Gene Bank (B)  Gene Library
(C)  Herbarium (D) By grafting

| 119 | A [11015-A Page 8 of 24

by:BSEBResult.In



24. ey wfoas F @1 @ & 2
W S (B) WU
(©) ST T | (D) T A FE A
Bacterial plasmid contains
(C} RNA & protcin (D)  none of these
25. i wuw forw fafy g g e @ 2
(A) I S F TR e () Wi S Y e
() el SiF & e wifen D) el ST & FA-Hg FH
Bt cotton has been produced by which method ?
(A) Northcern blotting of Bt gene . (B) Cloning of Bt gene
(C) Southern blotting of Bt gene (D) In situ hybndization of Bt genc
26, ©Tg R
(A)  EcoRI B) "=
(C) pBR332 (D) A9 | |l
Plasmid is
(A) EcoRI (B)  Hind Il
(C) pBR 332 (D) all of these
27, fow oI § SIEARR wgE a4 2
Ay OfEw B) Frafes
@ frfoas D) T @ &S T
Dinosaurs were dominant creature during which period of era ?
{A)  Jurassic (B)  Triassic
(C) Crctaccous (D) None ol these
[119] A [11015-A Page 9 of 24
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08, fral) sitg & faeraar) sfaerd @1 & A @ S S8 2

A feesE (B) R
() iaryy fasme : (D) &9
Evolutionary history of an organism is known as

(A) Phylogeny (B) Ontogeny
(C) Palacontology (D)  Ancestry

29,  wwa-face wieww fead da @) wa w9 8 2
(A)  STTUTET U1 HieEeT & Wi (B) TSR aul Hise & diY

(C) w0y awn oferat & s () EGY du @R &
Duck-billed Platypus is conncecting link between
(A) Arthropoda and Mollusca (B) Echinodcrmata and Chordata
(C) Reptilia and Avces (D} Reptilia and Mammalia
30. gnifaercdt FT ¥ 2

(A) UH H (B) < 1 @WUZ

(@ % wY () e

What is allcle ?

(A) A muton (B)  Segment of gene

(C) Forms of a genc (D) All of these

31.  ABO T UHE YUTEll fhdeh &R E ?

(A) Sl B) uRRfEE (seran)

(C)  31qui sTfer (D) UG ST

ABO blood group system is due to

(A) Multiple allelism (B) Epistasis

(C) Incomplete dominance (D)  Recessive epistasis.
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32.

33.

34.

35.

W2, TAGTA-20 T FHivg-7 Frifera o faraer g & 7
(A TR &t wfeet fafy B)  mifE mfer
(C) YA ahAlg wemar (D) IR i

Cu T, LNG-20 and Cu 7 are cxamples of which of the following ?
(A) Surgical methods of sterilization
(B)  Contraceptive pills

AC) Assisted réproductive technology

(D) Intra-Uterine Device (1UD)
TN 7Y & Feiifoa 5@ § SR & Foa &7 WIHIon a1 S 7 7

(A)  GIFT B) ET
© wr (D)  ZIFT

Transfer of an ovum of a donor into fallopian tube of a surrogate mother 1s
(A)  GIFT B) ET

(C) IUT (D) ZIFT

A § e o5 8d & 2

(A) T I (B 3’ TH

© (AT (B D) T/ IR T
Purines consist of how many ring(s) ?

(A) Single ring (B) Double ring
(C) Both (A) and (B) (D)  None of these
AR 1 fpar Fifea § § v s adt § 2

A) FEEHH (B) S H
(c ity 5 H (D) 3 I W

The process of translation occurs in which of the following sites ?

(A)  Nucleus (B)  Nucleolus

(C) Cytoplasm (D) All of these

[119] A |{11015-A Page 11 of 24




36. g § A W @ e frad gr e T E 2
(A feeEEm (B)  TUTHA

(C) N (D) T @ @Ig

DNA packaging in cukaryotes is done by the formation of

(A)  Nuclcosome (B) Chromosome

(C)  Chromatin (D)  none of these
B é\wﬁq@ﬁmww%ﬂqw#ﬂ%aﬁﬁ ?

(A)  HIEARISRTRR duq (B, TENEHIENSH du

(C) UeTEE sy - D) BRI auF

In DNA nitrogcnous bases are joined together by which bond ?

(A} Phosphodicster bonds (B)  Glycosidic bonds

(C) Pepulide bonds (D) Hydrogen bonds
38. sl (T&M) T OTSHE B & 2

A) BTlIHlFsd. (B)  &roHHe

AT | QTR

Causative agent of Tuberculosis is

(€)

(A) Streptococcus (B) Salmonella

(D) Mycoba ctérium

(C) Pneumococcus
39 uferer sonelt @t s-apiferrad qur -wifvremel # SeaRe e g & o

A alﬁsmwn (B) - Gﬁg‘[ |

(C) uUrRHH - D) FHI™R

Both'B-cclls and T-cells of immune system are prodﬁced in

(A) Bone marrow (B) Spleen

(C)  Thymus (D) Al of these |

[119] A [11015-A  Page 120f24




0. oW TN FaaEamd o

w alar arAfyg (B) | aT FH=HH

©  FifEar stfawr D) e FERE
Opium is obtained from which plant ?

(A)  Thea sinensis (B}  Papaver somniferum
(C)  Coffea arabica (D)  Saccharum officinarum

41. ELISA & wam fifea 9 @ feg o & 78 & 8 fear s § 0

(A) & ®F B)  ZIEEZ

) fez=w (D, T3d

ELISA 1s uscd in detection of which of the following discases ?
(A) Hay fever (F3) Typhod

(C) Tetanus (1) ALDS

42. m W fawst o AT X

(A) At Hy A
| (@ SHIAA (D) gl

Noisc pollution i1s mcasured in

(A) nanomecelters (B) hertz

(C) decibels (D) dalton |
3 q@aﬂmﬁrmmm%,hﬁiﬁﬁaﬁm% ?

(A) €O, B) SO,

() CO (R) CFC

Chicf air pollutant which is likcly to deplete ozone is

w €O, (B) S0,

(C) | cO (D) CFC
119)A llOlS-Il Page 13 of 24
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44, Eﬁqﬁ,‘zwt?

(A EeTet Ao (B) HeTH HE

Q Y wowh D) faer woelt

Pomfret is

(A) Fresh water fish " (B) Cuttle fish

(C)  Marine fish (D)  Silver fish

45.  THiEd’ for F @ formet dmdt & 2

() it (B) @

(C) - TYHE! D) W & P

'‘Ranikhet’ is the disease of which of the following ?

(A) Chicken (B) Prawn

(C) Honcybee _ (D) Silkworm

46. Y & 39St (AW s F forw ma =t @ fem s @ 2

(A) iR (B) = WRER

(C) TSI D) EieeR™
To increase lactation / milk yield, cow is given

(A)  Prolactin (B)  Sorbitol

(C) Gonadotropin (D)  Stilbesterol

47, Tefaer fead foe Swat g & >

(A) FENE g @ feg B) Sifaa wifee F few
() o & e D) . ¥ X Th
Cryoprescrvation is usecful for |
(A)  very young foctus (B)  living cells
(C) prcscrvation of semen | (D) all of these

| 119]A 11015-A Page 14 of 24




8. G for et et s e 5

QL - THTHTH (B)  Wieiferz

& . &
() TR (D) AR gEm
Graafian follicle is maintained by which hormone ?

(A) FSH

(B)  Prolactin
(C)  Estrogen (D)

49.  3HH THS w77 £ 2

Lutenising hormone

(A)  ARTAT & Bl TH

(B)  SICTY HT BT THeT

o8 Wwﬁwsﬁa'_,s'ﬁwﬁaﬂtﬁsﬂ@qé‘mﬁzmm%
(D)  JARTAT & BIT THIT it 3° - 5 e & aF+1em @

Okazaki [ragments arc

(A) small segments of RNA

(B) small DNA segments

(C) small DNA scgments formed over DNA template running in
3'-» 5'direction

(D)  small scgment of RNA formed in 3"~ 5’ direction

0. I%d BOD Tl ST FAT & ?

(A) A | FHH qqHT (B S W T
F1 afed o (D) &H G

(C)

High BOD indicates

(A) less polluted water (B)  highly polluted watcr

icroorganisms
(C) less scwage (D) lessm g

[119] A 11015-A l-’ag{': 15 of 24

by:BSEBResult.In




: i . AT € ?
S1. mwénmm%wamﬁﬂwﬁqﬁﬁmmmm

o

(A)  FATEA AV |, TN

©  ERam w9 (D) =NHEA T

Increasc in atmospheric temperature duc to CO; is called as

(A)  Emecrson cffect (B}  Pasteur effect

(C)  Greenhouse cffect (D) Blackman effect
52 wad @S S uR A et B g e 2

w A fogt (B) e o

Qe gt (o) el gt

The soil with poorest water holding capacity is

(A) Loam soil (B) Sandy soil

(C) Clay soil (D)  Black soil
53. 39 Ol % o § IR aret ol 1 T He A § 2

(A)  FHRR B) FTaRT

(G O Ty (D) G-Iy

Plants growing under the shade of other plants are known as

(A)  Mesophytes (B)  Epiphyles

(C) Sciophytes . (D) Semi-epiphytes
5¢. TGl 9 o] YR #Rd € 2

(A] - CAM Wl Heraul (B)  WHNT HYANOT & C, Wb

(C) T GYESO HT C, HI D) T A wK T

Succulent plants perform

(A) CAM photosynthesis (B) CS cycle of LR

(C) C, pathway of photosynthesis (D)  none of i
119 |.A [ 110154 Page 16 of 24
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5. TUFT & 99 a1 ) e 1 Feremfere febmr may o7 2

i
LW HES ‘
| (B)  AZTH
(C) TRH .
\ T
Check
cker board method of calculation was developed by
(A)  Mendel
©) M (B) Bateson
Organ (D) Punnett
56. WL T IS S & dv wr w4 weer 2 2
(A)  TH-GH Gl B)  Tgwat daHm
Q) Wiem o (D) &G HHT
‘Cross between hybrid and recessive parent is known as
(A) Monohybrid cross (B)  Dihybrid cross
(C) Test cross ' (D)  Back cross

57, [efefea & @ #19 9y 8 sifusan srefoes fafayar i & 2
A T (B)  HTheH

(Q RICK (D) 3|
Which of the follnw:mg shows maximum genetic diversity in India ?
" (A) Maizc (B) Groundnut
(C) Rice (D)  Mango
53 7 § @ HF o@wd T € 2
(ny faeeEe giEl (B)  ISTHIETH
T di (D)

(€)

Which onc is not endangered ?
[y Giant Panda (B)  Podophyllum
i

(C) Bald Eagle (D)  Margosa

Yoo 1T Al DA

(1191 105 . psEBResult.In




59. U Sirellem & anur @ ¥ 2

(A)  Ehu wigETor @) fgprefer

(C) oW e o Ffe (D)  OFHA H FgEI
The basis of DNA fingerprinting is

(A)  DNA rcplication (B)  the double helix

(C)  errors in base sequence (D)  polymorphism in sequence

60. Il syt % s Ti-wnfoe Freifed o feaw T €1 § 2
(A) - UEfEeEn spikdy (B) ?E*Fﬁw?ﬁﬁ“'ﬁ
(€) wniEfdRtEn e D) IderE geRRAd

Ti plasmid used in genetic cngineering is obtained from Whi':h of the

following ?
(A) Agrobacterium tumefaciens (B) Pseudomonas syringae
(C)  Agrobacterium rhizogenes (D) < Bacillus subtilis
61. U Sawd T Ear & ?
(AL, i & T ] (B) ¥ % Afaw a9y
(C) ST W e (D) T | HIT o
A fossil is a
(A)  dcad animal of the past (B)  organic relic of the past
(C) laboratory preserved animal (D) . none of these
62. IRTAU g&aeiy feash fore 3gart & 2
(A)  SifereRT 78T ~(B) iR w@R
(€ i faferieo @ TR 9=
RNA interference 1s uscful for
(A)  ccll defence (B)  cell prolifer AHon’
]l differentiation ,
i) ecllclic (D) micro-propagation
[119 | A [11015-A]  Page 18 of 24 '
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63 ST ity § e Hre & o gfges T T ST E

(A) © Bacterial DNA
i
@ +—-
: ukaryotic
64. .Wm%ﬁﬂqﬁwﬁﬁﬁﬂ%mmﬁ%mw% >
(A)  THRI (B) 3T dapew
(C) &g L EeT
Transgenic hirudin is obtained from which of the following ?
(A) . Tomato (B) Ocimum sanctum
(C) Potato (D) * Brassica napus
65. &M S oS A wEarfaq fear |
(A)  WTpias =aq & fagid (B)  wuifaen &1 g
q Iqfad &1 fagia (D) JUFHTT T

Hugo de Vries proposed

(A) Theory of Natural Selection (B) Law of Dominance

(C) Theory of Mutation (D)  Law of Segregation

66. @Waﬁmsﬁﬁﬁﬁwm%,%

© U TR
A natural insecticide obtained from plants is
(A)  Nicotine and Pyrethrum (B)  Pyrethrum and Cinerin

(D) all of these

(C) Rotenone

.’g.ng]ﬂ
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67, Aeres Arggtow AT F ferg 13-
(A)  TARgRIEEHA
€ R

Which cnzyme is required for biological ni
(B)  Nitrogenase

(D) Allof these

(B) W

trogen fixation ?

(A) Nitrorcductasc

(C) Transferasc

68. i F-a ol O S A I E 2
(A), - ToeT | ) AT
©) eEm D) @ifeatar

Which aquatic fern in the following is an excellent biofertilizer ?
(B) Marsilea

(A) Azolla
(D) Salvinia

(C) Ptendium
69. W%qﬁafsﬁﬁqwaﬂﬁfaﬁlﬁaﬁ,éﬂ

(A) | GfeT JFE (B)  SHITHA HIFA

Wf e AFd (D) el ST "R

The ancestors of humans who did paintings in caves were

(A) Pcking Man (B) Cro-Magnon Man

(C) " Ncanderthal Man (D) Java Ape Man

F Fod F9 w1 g Ried fafefaa 7 @ feed aa g @ 2
[V i T (B)  FonEifsTn Feiftay
() HER T D) BewHFFg

Blood cholesterol lowering statins are obtained from which of the following ?

0,

(A)  Monascus purpurcus (B)  Clostridium butyricum
(C)  Mucor javanicus (D) Streptococcus

I 1]g]A ‘]1015~A Page 20 of 24
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W% - @ / sECTION - B
oY Ieita wy / 8hort Answer Type Questions

m"‘m’ .
I#QOWW#f&#mW&mi:m&Wzﬁ
FPrafiRe # :

Question Nos. | o 20 are
carnes 2 marks -

10 x 2 =20

Short Answer Type. Answer any 10 questions. Each question

10 = 2=20

I WWW%?%Wﬁwﬁmﬁmmu 2
What is DNA probe ? Explain its usefulness in biotechnology.
2. HOXCH URY U S & sreem W frah ffa
Write comments on adaptations of desert plants and animals.

g HAT A1 Tt T4 393 Y ufenfya e

Define human Umbilical cord and Placenta.

4, WrA-STe &1 3T Bied FHHARY |

o

4]

£V

Explain Food-web with example.
5. =l ar 9@ i@ I & AW fefee )
Write the names of any four sexually transmitted diseascs.
6.  SuAu e ad FEE & A A sy
| Explain about DNA ligase and Chitinase.

I

]

-

-
What do you understand by pollination ? Write the names of the pollinaton
d

mcthods.
5
Y 3eTgTyl Bled LR -

8. Yo

. e ith cxamples.

Explain budding W
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10.

1.

i

14.

16.

8.

19,

20.

BN o Mfratersfag A siat @ ST

Differentiate between Karyogamy and Karyokinesis. |
2

W13 i ATy @ T @ AN § 2 WedH &l WL dfm i

ive an example of cach
What do you understand by phenotype and genotype ? Give P
2

lF-3NRT & gt gy oo fod

Write a note on functioning of Lac-opcron.

%)

ST g § o o W

What do you understand by DNA polymorphism ?
TG & Jaeis) i @) gl sE

Make a list of human vestigial organs.

513 fafeuar & fat @ wmit & am ferfam

Write the names of any three parts of biodiversity.
TR fagia @ sy w31 g € 2

What do you undcrstand by Recapitulation theory ?
URA % 9R UL At & =4 feifan

Write the names of four national parks of India.

34 A @71 A TR W DA, faw s e 3
Name the bacterium which produces B.T. toxin.
AV A FEF AUIH R FRA § )

Why aie bacteria and fungi called dccomposers ?
AT A15gIH & Rerieor &l g

[Explain biological nitrogen fixation.

QaTeoT @1 I YR & it Fifer |

Define Eutrophication and Algal blooms,

1

ta

| ]

a2

| ]
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SWW??‘:WW 120 it # 71 anfiv

Question Nos. 2] 4, 26 are L Ix5=15
stion carries & sy ong Answer Type Questions. Answer any 3 questions. Each
que Rs. Give your answer in about 120 words. Fr5=15

21.

23.

24.

wm@ﬁﬂﬂqﬁﬁ% ? sfaera &1 ferg amia Fifom

What do yo "
YOU understand by central dogma ? Describe transcription in detasl

e wvt & awg & -

(a) T Od fereftawor # aaea w3
(b)  UETE % fo=t A ot & ang fovd
() UHETE & wrat & ferd |

Answer the following questions :

(a) Define vaccine and immunization.
(b) Write the names of any three groups of antibodies.
(c) Write the functions of antibodies.

frifera A 3iar W 1
(a)  HAUTAA AU P TS|
(b)  SiEEeR WA T Had G |

Diflcrentiate between the following :

5

o

]
¥ oal--

(a) Inbreeding and cross-breeding.

(b) Protoplast culture and tissuc culture.

frAfeafiaa d 4 feheel g 1 A0 & i R
(a)  WepHE UM qU1 HR

(b) JHSATAAT ddT AHATT AT

(c) OECRUE

() r-FTRIaTEe Yl B-fAIRTETEe |
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Describe any two of the following :

fal.  Infectious diseascs and transmission
(b) Homology and Homologous organs
(c) Filariasis

(d) T-lymphocytes and B-lymphocytes.
25. Fr=ifea &t e amifea fag 2 TEI
(a)  TEH fammoy &) wve 12

(b) WY FRCAT &1 FeR e Hige 2
(c) A& IEwI 13
Show the following with the help of labelled diagram only :
(a) Structure of AIDS virus
(b) Clover leaf model of t-RNA
(c) Human sperm.

26. feifda #1 aftsfeg 1 - 5x1=5

(a) ik gew (fepdt uifeay =)
(b)  UFETSH 9uTe

() wafe gig

d) g

-

(c) Sd JaTe |
Define the following :
(a) Biotic components (of an ecosystem)
(b) Greenhouse effect
(c) Population growth
(d) Emasculation
(c) ‘Biofertilizer.
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